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It may cause people to think that the percentage of
respondents who likes Xphone is three times more
than the percentage of respondents who likes
Starphone.
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Let the intersection of A8 and PC be X.
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PX =1.6c0os40° =1.22567

Height of C above the ground
=(0.5-(1.6-1.22567)
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No the ball will not collide with the statue because
the height of C above the ground is 0.126m, more
than the height of the statue.
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The diagram below shows a map of Singapore. Joe is staying at point 4, Elliot is
staying at point B and Thaddeus is staying at point C.

Using suitable methods of construction with a ruler and a pair of compasses,
{a) locate where Elliot is staying and label it with ‘B’ given that £BAC = 50° and (1
ZACB =33, and

(b}  find the best place for Joe, Elliot and Thaddeus to meet so that everyone travels
an equal distance to the meeting place. Label the best place with "M 2]

Answer (3), (b)
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